e e IOF Sl UG
a=2, x{ > v, b=2.
004 07)= O Fh/w/ fo= bl e aa v ey
b
(R 25 3bu o4 PF) = [fway
INEJEY) o
((
MO?C(:XW’ZZ-—(/
[eEn

W&nﬂkl ﬂ/Wa/ yz/q./m7 5 ]/; (ab7-0 U_WMWLW‘/Wé gmﬁﬁy/wz.' Z%f/w

[eRlah] © Yedo 3d50 Y0 (ged » D w6 0)am <¢

K=(

Dok (g bpbd duypalhy)
?/L/,/W}[ C/?/’U/(/U«\f f 7[5 [Uc/7"’/21 %Lyw

fe RG] 2 { wulduhuduwf b & bodyyu wlbinbd wh ity

Vol wy [oellal) = 47‘(:@/2 7£+c96£(qz)&
/[{Jccy)cﬂx - /#{’xfc/f/k

L e !}f@/l égjﬁ/z

o)  [9¢Rlel7 = [fcRle)]

1) LE€RGI) = Ylad clad] L€ L[]

g) {:lacl-0, b€fac), {[,, 60, £, c0lbc]: Dhue,




f\é R Cac’ E{ )C fcfﬁ(f /%C/), < /:[0[)(

¥ b 3
%Uywqwd&/ ub) _J(:—Eg € QC@J)?/ C 9@Q(0f é)
oS DR s SR P S o e R e
=1

wif+e, 4) £ wl(f a/+wl?as)

CU[-,[%(/“/ n) = {Iﬁ[m/f%/—ﬁ?fﬂfﬂ//

2, €A
¢ tap (L)~ L0+ | eI~/ )
Y Es
= ﬂjj;fﬂ [ L6/~ feu] + /Sqi/;/@[) e | = wln)r od9s)
f/m/ &= B olg BF) = b (6 0 F+ele 03/
X(P/—»o [ f(P)-=o
j 7[0&% ]((70/7(

\L) ® f}o/ 7£€/Q{Q(47 . /7/‘1{)( 20
: y / y
[ ¢ RCai7, R R e B [hdr %0 rf*/fel’z%//a&

Hoi?t’gw el

A(A/~0 =t

20

% o € Rlgl) = e
/ F ) £ € RGd7 e s e

s e
M ST e )__ wllo/g2, <¢

‘EMs

({0~ {Ta] 2[2 a4 ) |09~



o fg= f(fee) -yt let e Rl

& , = ,
pey DG A e S A
65 PACD £, et’
Slnesh B Sl G
Ae wity 0/ 7w, 4Y wl 04/
\?f
B ‘ v
t \
a B o b

- b
Wy lull w) 1€R(ad]) = (frepady, [ %%/é/[ﬁ/o&

p)  {€Rl) Fl= /ﬁ[#ouz)%{(%ew Foa-Fd] <Cla-y/

moly  C= s Gl

Usgusgnyy ) f [ ARl e
- 7& L (E-£)
'f—f: Yucuc(ﬁ 0/ _:MK/—/(OI
| b b b
[t = Ju[*m‘f’[‘“”/ 2 /Gvfﬂmz]uﬁfﬁiw

I b b \F(

= } L0E) h] é( iy W—f) (4-2) < C |t

(%1

Uhglh  wendith  plaghdhion
uLth[www/mmm)l H’f‘/wft)\ﬁﬁ//k /L(MI/W/L = ZL/L(/)L[l }%L/t r /J%A“W /ﬁw/w?n




(s 6] The € 2 Oche <(maroc) 2 &

(Cltn K= =i <, n

AT Mol i M e R e e = M

b
5 mel el D wlbe) £ [ Johb € Mlbo

b
= | c el kT R C(f~o)

(i3

peCliph S s mh[( o mind . CEluM?
£t T ladls Ll =0
Cc—;[j[(u;/w)] St o PASE TR g R

b
IFelad] ) {d = {(5)(be)

Dokl Nyl L 7€ Rlad7
b b
FCe(my M) quolx: é J9011

img( fup{ ¥

(Gch) (G(b]

) }
Bk {e (((a4) wou TFE(QI Lo b= f7) Joan

(LLJ/H /L/mw/ 920 {ﬁw/ ?—‘@gf/%q

}

0; 2€Coi) j
LMT{(, iy 7 /fd*jo /

%EQCO(U /][JJ:C ufiwes €

Uswguy, 004 05) = 2 [B/9UE) s £ My 612 0T

K=t

o(fe,0,5) > w, 000 0%)
ﬂ}ysz/ M/ UuL}lL/ULu/ L\M/ X0/ -0




b

b b
S {od

Ay > = h, & <M
f?’( ORN=) f /QDU {

(e L 87y k)
_ L k::\l\’k_\(l/\.r—J

O(kJJ\ w/ 96’72(‘&‘]/ ?30/- A E)Gh7 7(x) >0 L T, afoJ%Aw% IS

QLo é’ﬁﬂm/: 'ZKU-[UA l
/?M}z =0

e) 9€RMLY, 92 /mg\@ D JAcClab) RCAI=0 G
G6h) =0 trd A

o) GERIY) 120 fuduyor wiklimbf = /m:o

3€:Q+g ?i/ /?QOU >0

b b
f—ﬁ?{(f%;c J?QJX’ Cg é(’“f,M{)

»
J ol = f?aﬁwg[ EEs /m

iao a

-~

waQw“‘ /fMl’rQ/][chﬂ /f?o/z'

(4N

SN Ce, =C € lug f4]




